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G Sy 2 L ooxT 4
(iv} F y=1 stantledr, o T, 88 @neRis?
x-y=Lxy=6 Y
v) ;3 e, | 06 srewis?
X — === :2— x 2 =+ S
S X X 7 .
(vi) i 5 sTeT6dr, \l 05 Hrewtis”?
X ;— = ‘“2— X 2 - g
(vii) y 3 aranilagn, ’”] e STas?
. :
E = — = s e
i X 2 : g * x° : -
{viii) | g ovefie, 1 wE FHTewis?
P i %} = —p
(ix) | gy S, x | BE snes?
a — ; = T o A T
(x) siemlr, 2 ond @nasis?
1 48 L& l
- —= e

a 7 a’




" ey, mairf s Cwmnenensaf il G 0.

L8y manls Coraeume FIVgamed UGULSSIgW BsFABW S 57
sellph Carena sweialgei® o157 safs Catomamells GUT.L.E.
QLD

Q wpgeied siouh Carmasamms smaliubss Causmihib.

O Jawry Curgissiyeiismer QUBESONS awps GasmiBlb.

Q Ueen sghadaim srjeismenid Qpss CousmiHb.

Eg: (i) 4a%b,6ab

4a*h =(Ax 2 x (}5/5 44%b = 2 xa* x b’
6ab =2/x 3 x K\f)/) 6ab=2"'x3"xa'xb'

Gum.io.4. Gium.p. &,
=Qx@x@x2xax3 = 2% 3"xg'x b’
=12a’b =325
() x*+3x+2,x° +4x+4
x* +3x+2=(x+2)(x+1) X +3x+2=(x+2)x+1)
X +dx+4=(x+2}x+2) x*+4x+4=(x+2)
Gumw.d. =(x+2)(x+1Ux+1) Gum.10.4. =(x+2)*(x+1)
(iti) x*+7x+10,x> +10x +25,x% +3x +2
X+ Te+10=(x+5)x+2) ¥ +Tx+10=(x+5)x+2)
¥ +10x+25=(x+5Kx+5) ** +10x+25=(x +5F
X" +3x+2=(x+1)(x+2) x*43x+2 = (x+1)(x+2)
Gumwp.d.=(x+3)(x+ D+ Hx+1) | Quriw.d.= (x+5) (x+ Dx+1)
i
30. pmGh opsy sefigs Garoasefa GQured md sreds.
i. 6a’b.8ab il. 12a°6°154° . 10ab?,15a%
. iy, 8a’bc6ab’c v. 12a°b°c8ab’c ; 4abc,6a’b8ab’c

vii. 20abe,15a’bc 1 0abc?  viii.12ab,15ab* 20abe ix. 12.10ab,24ab?
X, 12xy,20,16xy?

3L 0 (o3} +2,(x+2)(x+1) i, 4x+12,x2+5x+6
iii. 4a-6,2a*-a-3 iv. @-9,a*+a-12
v. 2x% -8,2x%+5x+12 vi. 4x*-252x -x-10,4x+10
vii. 3¢* ~12,8° —4a+4,4a+8 vili. 8a+4b,2a* +3ab+b*,a* - b*
ix. 24" +6a2d +7a+34d" +4a+1 x. P’ -9, p -6p+9,p> +5p+6
R. Rakil A 13




A w kA g ow
M1, @11 Seolat 1Tt eon

SILE] sanlsl UaiatiEamsnds sal
GIETE6T FIOAMS GHSs BaueiHld Hieh

Waehelt [l 160 [ mifeh et

e Cursid &fsgh Cursid L3
€0F| FODMRT LIGE T6/iemis ONhHm

Gevamr(Bit.
w2y o  Ax : 3x . &y Ixx3  Sxvd
Eg: (D fl o2 o 8% i il o It e 4
e S ke a0 8 6 Ex3 6x4 -
-y, 2 9%, 2=
@i 3 it e NS SXRE 24 24
8a 6a 8ax3 o6ax4d ), &
4% a2 24
Mgo o ARemig= by | any
.. 28 X+3 x-2 (x#:3)x-2) {x+Hx-2)
24a ‘4x=8_12x+§__
3 g5l = 3 2 (x+3)(x~2)
¥ Fod Fidrs2 (-2x+D) G+1x+2) wrafe=2
" T (x+3)x-2)
> L ehla6Tt el _3(_'“':) fdotyf __Z(X 3_
TR SHUILIE BE0. (o-2x+20+1) (et DO+ 262 = A 28x-1)

> Gurin.d ewd
Cerem® LGS @i
FUEHTHSULEIHED.

7 gL 60/ |fSHHe0

3x+3-2x+4

(= 2(x+ x4 )

L
(x=2Hx+2x+D)

s
32. smdEs.
B o B, E dg 24 . 3¢
L 3 5 3 i 5 3 4
X +] 2% -1 2a+1 a-3 a+2
v, 2 P g
38 Ll NP g e b g 3
ViLi2ab  16ab WL e e
3 5 3
X &=ty 8xy 12390
33, smSEs.
; < B Ei b5 3
by Ak 3 W 4 it e i
2 2.; ___l____ 4x 2
Wo ¥ 475410 x"+6x+8 V. 30 v x—yp
Vil 3.2 T O S N
‘a-b b-a ‘@ +2a at+7a+ll
1 2 2

S et SO .
C+3+2 FaS+b 1 edrd3

R. Rakula

x4+ 3)x-2)

da .8 _ 34
i. 7 4 I 2
@ 3 5
YL, 4a 6 a
ix. L b ab
4b*  6a® 3B
5 3
W T ™ S dx+3
h=d 3
b 29 x*4L6x4+0
. 3 2 3
R Rt e




| onl ey

HapTe \Tdlenmsen mbsan [ angd g

Eg: (i) ix_f_:_ﬂj__z, ifes @E0L
ab a’b a’h a+h 8 2
x4+ 2 ><(.vc+1) o (x+2) (x+1)
W) S axts . A s 3)(x + R D —2)
" 1
{x+3)x~-2)
3 2 g 3 » ugdmei, Cargdlsen
(v) x —4x-5 x+5x+4 ST SEBUILIL.
%° -1 x'-x-6 Gousmipin.
- (X—S](X+ l) e (x +])(X+ 4) > QUW@IMWU@H&')GH
(x=3)x+3) (x=3)}x+2) S(hbsu. Geuesi{ib.
_ " e > genany g Hae
E (x-5SHx+1) 2 (x—3)x+2) QEBENIEE
(x=3)x+3) (x+1)(x+4) CanESunsayd,
ugdaet QUmssOHULH
_x-35)x+2) LG SILITESaD
(x+3)x + 4) STpBLILBID.
Ll
34. HHEGS.
. 4 ab hen(C3 T . Bl rob ¢
i ;TFXT o T 6 s 2 i, 3 2, i
- 4X+3x21"+6 3.x—6x3x+9 L X +8x+15 xT+6x-40
Wy vy 4B a2 0¥y 3 iefBaingd sk ¥ Do dias 2x+6
. 3x'+x  dx+2 . oa+b  2a’+ab . x’-4x-12 2x-10
VI axet -1 M358 alvwb ¥ =2x-15 x +2x
x42x -4 3x-9
& ged T x-3 £4D
; 4 6 = L 6 e 3 xy Disgi®
W X TEE T o R . 4% agbie 111‘-—-5-:—-—— ez
soabe .. glh x*+ 3% x+3 . g gh 1@’
S TS C I i e e T S e B
Lo x40 -12x 2x+4 o 4X 48x+3  4x’-1
b ST Ry b VI T 2+l X +4x+3
: 2 2 _ A3 a6 | Aatd)
i 18 BIELD  AE X Ya-3) d+4a+3 X +5a+d
2x°4 2% x + x°
R. Rakul \Igebra




“atElidl ST (S enet

2 [HSUT G EHA

il emer Ganensy g @ G1lHs CUpIETEISADEG FwamSHELILL LI
SiFH FOILITG HyHLb.

Eg: () @6 Gueanmala ofamen  x/- Seargren 5 Guenrdssh
UTBIGH B 50/- OFsoeunalugy.  Sx=50

(i) Guarm geigub 4/- Cupcurer CusF gemlagd efae 16/
SYSID.
Guenmelen aiflsnen a eTanfes, at+4=16

(iii) Goemp Cuendseniat 5/- Gumpdunen 3 Cuaidasaiagid
allemsw 50/ SuGib.
@h Buenm p s atefiar, 2p+15=50

il dh GRS EHL 6t FWEUTHSDT 2. el i s,

Eg: senemaiar ewds sworiusdend 3 Geome sbllulea anug

Siedemieiea sulig X, Sbiluler auug 8 aala, X 3 = 8§
2.
'-‘3|6551.l_'..I'Ilf-ii':-@_iﬁ.‘b-:@’bﬂ. et dor @i tq'n@a,-.-;‘;i'im 2. e B | 12¢m
Eg: gn Osaicuasfar fenb 12cm. siger smmeney a

40cm syl siseoi asiafer, 2(a+12)=40

AL aT Beiml ljt-i}‘lobll'!ﬂ&sﬂbljm ‘S lglit SRS

Eg: o saeLuieh o eien Lphisslar 3 UG, 9185 senLulled o_eiten
Liipmlmeiilent } usigib Befdhgn 14 sy@ib. swenlulled o _siten LIpEisSei
*
1 levtletr,

1 1 gpgaurd  uiguilgpsiten  gun Gl |
g o oR e ] SeRfILISHIL N FOMUTH T esiiu

0 n FLOATUTH DG
‘3—' + Z“ = I 4 i

BRSO SURILIH S 2 @l B s, |

Eg: 2 Cuamsselaigd gn Guardledaizmb oflees 27/ aysbh. o
Cuemrellengih gur CuaTdalangsih afsoed 15/- gyeib.

Cuenmelileh elemer x/- , CusiidleSen allenev v/- el

Xy y=27
x+y=15




SipLigdF FWDUTHEBME 2 HentdhdhHev.

Fg: Gosiasd gamear gdonb omasos it 5 sigsb.
OFLFeleusHHE Uyl 75 QySLD.
ala+5)=175

a’+3a-75=0
vuinF

36, Uaaumld ety shaiiusinGld FuaiLTd D HMosGHE?
(i)  Cuem ganieé elame x/- o5 sipafigud 5/- Gapame Gusids
genien aflensy 10/- SuELh.

(i) Quefsy gendear efleeuiignd 10/- SiFswrer Caniil  geame
afleney 15/- aysb. Gusidelan alene y HyGID.

(i) guggredent suwFemb Gyrpgrelel QuUIE B GUELBIHE  DIFSID.
gregTele auwig t, Grragralial auigl 22 aU(HhLBIGS6T SLEHLD.

(iv) G505 S obopbusisala smLESUST®S 36 oS,
SIFD b SR X SUBHID.

V) st gandsd o efer ioTemaujsella setaisams 36 SuGWD. DIl
Spemiselt 22 Gusmi®e g SEGLD.

(vir Giss WIssH0 Guall o euassTE OFwe GFlg LD
o _enLdbaran CFevals 2 wLBSHeubd 1500/- iFHD 2 euleybasTen
Glaevey 3500/- SYEID. 2. 6L oo LiFas] P HLGHD.

(vil) orewmeusr HagnpHer Benm, Bagmbder Benpulen psim wLBidlgD
12kg @ovpen@ib. Hegnpdar Hlenp 18kg aysib. BagrbHar Henn m
SiHIb.

(viii) Gsisusd ganie oimob Badde serardfulan Scm Sidatb.
BenD a S, Sideub 13em gyEib.

(ix) asurallld o sen Lewisdeb % UREG UenGHed 75/- @Genpeund
Hameli b o ehengl. sutelLib o sfen uamb X/- SLGWL. Faral b
© et Uewilh 50/- Sy, :

(x) 25/- Guupuogwran 2 CuemdaEnd o- Gumiogume GusiFesar
ppaimid 2 een 10 Gurdaeefiar Gupiog 650/- QuEib.

R. Rakulan

‘gebra




E - . P Pw | e os e
STl drbatt (T sheren ds i__u_,’|_|:g_|_.__a,l_,.5u.,

S ax+b=cengefeonar SwHILTESBET - STBSFHUTH (PaD

Eg: (i) 2¥x+3=7 Gy =gl
% B § a0 =4 4
2x _ 4 -3—---4+4:3+4
2 2 2
x =2 3 ,
X
S umigsm CarlEU UL wpead STSee. 3" i wgd
X = 21

Eg: 2x+1=9

Umagen Caml il LD

Iy 2x+1
X 5
3]
Gmiomy UTLFsD GaTL G0 UL
o A = W 3 5 il

i ot
2x+1=9Ga &iay x=4

= SienL S BEHL B LelammisEnL ol Salqul FwealLimRiEemsnd &i7das0.

Eg: (i) 3(a+4)=18 3(a+4)=18
3(a+4) 18 3a+12=18
_3 “_?;— or 3a+12-12=18-12
a+4=6 gl T8
a+4-4=6-4 2a 8
3 3
a=2 =
mpied L Giy* . X _ 5
30 2 &oiad Land
(x+4)><3[:-:]—x30 SeUBen  Curd e
30 2 CLIBBGESED. ]
x+4=15 Elord $Banp_ o
4 6

x+4-4=15-4

3x+2x=10
bk |




3T

38.

39.

FoauTh @ B0
Umpipd @Gy a1 e & &% &
Gall LGOID B] 60 60 B
B SHSEUTID.

Foaurh ganmiar BipuUmbpn
@Gy eramrammed  GU(HESOTD
DIFLOEI AUGHSHEEITID.

B o atel
x+4 3 6
332 0.7 R I®
x4+4 3 3 6+.3
B P4
x+ 4 6
3 3 -
x+4 6
SOEGL GLhESLD
3(x+4)=18
x+4=6
x=2
uufihA
By,
i x+5=12 i. a—-3=8
v 3p-5=19 - ;—'+5 = 7
it 5 St viil, & — 5]
5 7
X, 4_}""3:3
5
Lmigsh CamiGl UL dped Hiss.
LS R i b-5=4
v, 4d-2=10 1, T4 3=s
vii.y; =2 viii.§_5=(_3)
X 3q_2:2
-
Birbm

. 2(a+5)=18 i 3(x-4)=6

iii. 2p+3 =11

vi—+7 =29

iii. 2¢+5=9

vii—+1=10

ifi. 424 +3) = 28

V. 32a+3)=3 V- 4@Ba+15)=(-4) Vi dx+3(x+1)=15

Vil. 342(a~3)=5=3 Vill 2(4x-3)=203x~1) X 3(x-4)=2(x-4)

Xo 5(x+4)=203x+1)




Vil

X.

41.
(i

(11)

(ii)

(iv)

v)

(vi)

30 N SR g Ze-o 01
10 2 4 2 15 3
2a+1 _3a+4 'y 3a+5) Wa+l i x, 2x T
4 g 3 4 4 6 6 .
23_“_}%:]2%9_ vif ' 3x + 4 iX. 4a-5 3a+S5
2a+3 10a=12 2 4 %
S ColBsiw

deliaumh geldan® shElusped FswsnG sewd Bibe.

gatufenr 2 wgb 125cm gusb. gall  Gurfiaud  22cm g.wgb
GphEee Gomfan 2 b xaelar, Gorflar o wrhmss snes.

geitatiL D @ymEs wilenset a SysD. HeRiuaT &he 25 w6
130 oued srewmill L&, eeefill  gheaBal @mbs  wmilsime
ST Senen ]

wEHalar aUSHe EIemE wLmdand 12 siflad sposuls auugl.
waEaer auug a HyHID. Shansulsi eiug 38 aafic, waalea aumss
SMeHs?

@1 aamenfien 3 wLmsedmhga 15

QYLD
Seu0eeHIenaTd SHT65TIET

mé  sfisHen 9
QuEaA  SEeLlinbs uanssSdl  sepandlenuwud  Hewiued b

sumddiul  150/- munb Geisa SbemmeuEde 350/ CESTHEHETE
arafia, oeuedLlmbs Lad esialans]?

aun dlenmfen 1/3 ung Bohdiu SHET Imgiieme. st sHGUTE
o_eftan gyiptb 2m eiefledr, Slamblel suph wrg!?

(viD) my efwrurfuii_ib o efrer upsisefiet 3/5 uhidangib 1/8 unEagD

Glumnod 2900/- aeisr, LprhEalangib Gorssl GLmws wrg?

(viii)etemt gepilelt 5/6 @h@d 5/9 GHGw BeoLulemen elisHungd 5/2

(ix)

x)

slanflant, BielbleueRT (LUMHIT

ul L geens @a il oemey Brefsd upsmallL Sgueusir 3/4 Ui
BTenevd GHonmHE ULLSHend Emddentear. ey 25m pranse el
UL Seng gmmlemer. SHCUTS ULLD uBsEl Eredd Sene| 35m
sranflelt, aIMsenGey LD LBhS HIedslr ieney wngi?

@riIwsll uflens genie seobs GetemLayseaien 1/3 ukidlen) o
usgalsEpd@d /5 uvhdary o salwrenfsemsan  Gldmd
Gareeniiul_Leany. BremiHogid Gassid Qurerentiul Leufssn 77 Gui
arenledt, GrIpsal uflsnsulled ssukgl CETemiLsuTsel g amer Bui?

‘Algebra




22. omrhmew swakuTsHmarg ﬁj‘&;&t

Eg: (i) x+y=8——@

(i) 2x+y=7—Q

x-y=2~——-® x+y=5---@
D+H2D=2x=10 DP=>x=2
x=3 D=2x2+y=17
@:} 5+ y= 8 s s 3
y=3
i GemSmEGs  Foamer Qafiurd 1 GomimniGen Foamar Gaflurd
| sefumest  afi  adis safiuBied g8y @miumuier
L€ e FLO AT LT (B &6l & sUUL
Gsemnuis aall. CeuamEib. GeueHiGid

@iy 2x+3y=(¢1) —@

(iv) 2a- b=7hd=li(D

y-2x =(11) —@) a-b=2 — 05
O+@=dy=-12 D= a=5
y=-3 1=2x5-b=7
1=2x+3x(-3)=(-1) 10-b=7
2-9=-1 b=3
2x =8
x=4
(v) J2x+3y=3 — (@D (vi) 2a+3b=(-1)—D
3a+2b=4 ——Q) 3a+4b=(-1)—Q
O*x@=4a+2b=6—-0 Dx 3 =6a+ 9 =(-3)—0Q)
3 -@=4a-3a=64 @x 2 =6a+ 8b = (-2) —@
a=2 @D-@=b=(-1) -
D=2x2+b=3 D=2a +3x(-1)=(-1)
4+b=3 2a-3=(-1)
b={(-1) 2a=2
O \ehemisEnLame guhises SodLGss LbHee. -
B s Op 2y 7 3x % _.?_..._
'l“g'(l)f“kﬁf{_:?"__ T8 4%
S0 x 180
-t 308
2 11
. 2x 2y 22 @)= ~+ P
j_sz) —_— e
B2 0 o iy 0 1 o
@D-Q= ~2x_x_22 7 15 5
5 15 6 o
2x 15

&




2 9 i) —+ — = — e
M. 2r. L —( e Ui ©
Lo dee Ll caell LRI PN
5 3 15 el e
ix12+%— ]2:1>:!2 i 1 .
4 3 6 —-:x_,--——y@@ﬂ&-
3x+8y =14 @) a b
F ¥ 1o 1l S TR
T x13 4+ =x15=—x1§ ®2>2><—+—~x—=—-
; i 3“ = a 2 b 12
x+5y=
3p=3 2;c+§—y—=l—?-
y =1 2 12
Ix+8x1=14
35 6 (2=)4x1—+5x—1~=—2-§
¥ == 2 a b 6
Eg: (i) Fpase: g A R
2y 1T 6
wd 2b 15 P
@@= 2y=22.-11
4,523 ¢
i % % -
4 3 17 L
Ox2=>_4"="" —(3) PFes
arbi6 )
QQ=5 3 23 17 @fi‘4x+5><—;~=36i
B\"hx 6 6 4:(_2%‘:5-
e ) "
b 6 _23-15
b=2 6
8
2 3 17 = -
e o AT .
i1 ey 1 Bt ]
Z2pa7 3 6 4 3
gh 2 4
17-9 ol 1-
B —_—= X b ¥
12 !
7 8 + ok do b
% % 3 b 2
8a =24 =% Bt
g = 3




uufiF

L1

42. ddausd golsow suaLnbsmmd Bids.

§. XDy P i, 2a+y=6 ifi. 2a+b=-1
x+y=35 a-y=6 3a+2b=0
v, 3m+2n=1 v. 3a+2b=7 Vi, 4x+5y=(-7)
2m—n=10 2a+5b=12 3x-2y=12
vii. 3p-2q=(-13) viii, 2x+ 3y =8 iX. 3= 2b=14
2p-q=(-8) 2x-y=(-8 a+3b=1
X. da+3b= -1
2a-2bh=13
43, Ueeuwmd gisas swaLmhamend Siss
X s 40 i, 22 0 380 gii-EuaRy (il
&8 R 3 4 12 4 3 12
E L AL A% 2, 2 L W
§ A¢-135 3 4 13 4 3 12
iv. 2¢ _b 11 vy 2m m _ T o2 3 _ 17
3 5 15 3 4 12 x oy 12
3a 26 3 m  3m _ 1L LA I .
4 5 10 4 4 1 T T
vii.i+._2__ e viii.,5___4_=£i ix. 1+§_zﬂ
a= h 12 x ¥ | ] a b G
S 2k Soiud s s )
a b 3 x y 5 a b 6
X. 1+ 2\s 26
A
Sodepery
x oy

SHlind swSLIGEMmTdH BFHeHan

O smefurdssd apsod SXmLgs swaLnGemerd Hidse.

Eg: () ¥ —x-6=0
x*=3x+2x-6=0
X(x=3142(x-3)=0
(x=-3)x+2)=0
x=3=0 orx+2=90

=3 orx=(-2)

(i)

Fab=0 sl a=0 owbevg b=0 swbeog a=b=0 gusib. ]

R. Raku

23 R

x?42x =35
x*+2x-35=0
x*+7x-5x-35=0
x(x+7)=-5(x+7)=0
(x+7Hx-5)=0
x+7=00rx-5=0
x=(-Norx =35




O agés uidd epemp apeb BLGE FwdiLnGamand BiHped.

Eg:(i) x +4x-12=0

(11) P 4Sx46=0

xP4dx =12 ¥ +5x46=0
2] : 7]
x?+axr4l=12+4 x2+5x+{~52—J :-Ggq-{%\i
(x+2)* =16 F 25‘L ks
(x+2)" =(£4)’ [“ﬂ e
x+2=+4 L 24425
x=14-2 (x+£—]2——t—-4
x=2 or x=-6 | 2 a4
3 o : 5 b i -‘l|2
(lll] x“+6x—-10=0 Xl l—- = LZ_J
x'+6x =10 5 y
2 2 2 el s g W
T+ 6x+3°=10+3 2 2
(x+3) =19 i ekl 24
- B =
(X+J)2:(+-”19) ——— or x—-l‘_i
(x+3)=2+/19 2 2 2 2
x=+19-3 orx=+19-3 .. - -6
x=435-3 x=-435-3 3
=1.35 ==735 =2 = =]

QO @dByusenet o 1GLTASis GpLgtswsinBamend Bibse.

ax* +hx+x =0

B 22 ¢ ~-b+b? - 4ac

= R L s

a a a ! g
o g el
o a Eg:
i b (z;\:' - ¢ s‘aT x*+5x =6
¥° o4+ —x 4 —_— = —_—| —

a \2a ) a \laj 'y 5x-6=0
{xi——{’—Jz——_c -hﬁl - b+ b~ dac
\ 2a a 1a x 2a

- dac + b°? - —
TR Y EEEYT  — 4 ] x (-0}
e PR = dae 2xl1
da® —5+~/49
[a+_"L_]:‘rf—-l’ff’._l -4ac } 3
a L 2a _ = &4
b ixﬁ;‘?:_dac 2
_'(4---—:——-_, -5 +7 or _§_‘j'_
2a o 2 5 X = )
-b  Ab?-dac PR i%




st o

L3

4. smelluGionugst Bouys FudlnGooms Lids.
i x+8x+15=0 i, x*=9x+20=0 i a*-Ta-18=0
iv. P'+6p=27=0 \  2a°+5a+3=0" i 2% ~llx+15=0
Vil. 207 =7y—4=0  viii. 36 +7h-6=0 ix. x> +10x=24
x. a°-5a=14

O Ssiteugstd Eﬁﬁuuﬂmﬂ@?@ QUTBhBIOTET QURIGEW  SOMTLTHSET

(1)

(i)
(i)
i)

{v)

(vi)

{vii)

Fhenaud sreaiis

Byen@ aemsalel FmUQSGsTS 32 SyGD. SeunpsenL ulleorer
alldHUTFD 2 Quabh. SEbnatismens STame?

Bren® ubGIBEHE @k GETATD 370/ gueb. e UbgsED 2
Gordud 630/- sysw. Lbg sl adLBYE almasmens
ST 7

QT e Eleiterms  aewteniiar 2 oL niendd Sl lgemTsl 54
AGL. swuhpssmiuisorer alGShura 18 suEk. SEnbaatenems
SiTemiE?

alioslelr  euLiglell (Dol BIE  HSsefel auwidlelr  Fpomdanh 6
giFmid.  opuisellar  eugmete al Ggbsrena 27 syeib.
Dia] STl SULSIBaeNS STewTS ]

goilliiib 2 efen uewnd FiIulLid o sen LewBH@T 2 wWLGSQID

« 20/- oompangn. gal Alsg 15/ CETHESST ExmeufiL (1

2_glen  Uemnd  FoRMG. @aGarmafLpd o eien L6 Hen S
@it

2 ainguisd  ganied  5/-  premils  GpileeEnd 2/-  BIewLS
Gifeenors 50 Guled sretulLg. Seubis Gumuog)  160/-
SGIDh. 5/- premusGnn aghsmen o_eeng?

Ismsbange  guheust  SaeliLifmbs 10/ Fehmensmyd  20/-
Frensaneniid aBhg aemtenliarer. sieunllel QUDI® 300/- Sy
20/ greli@st 10/- grshsamasapb 10/- sisise 20/- HBETHYLD
BD_HBHHHI0 SeugnsE 30/ siFsone Do sHmbGD aafer,
SIN@ISE HelSg 10/-, 20/- srshisen agsHmen?

(viii) Aulenr g B ullsr enwsdlan 2 o sidigub 5 @enmay. 3 SU(RLBIE6TNG

(ix)

upsirey B Widl enugy A ular auugend 9 Geomey. snGuig A, B
steir@umflet auuIgIGmens Sireis’ .

wlevss el gaiar Geossnisald i GEGsms 11 DUGHLD.
Gevdomnsenst GLb  wipiamsd aerfignd 27 SIF BOTG1D.
SisiGleueRTsnemIS SNewEs?

Algebra




47.

(x) ms&rsm(amns&uﬂmﬁ uGsd e @it TS aignLgnd 2 mb
Bl 1Q6WTE0 f— s 965 Lﬁmm,J@sm UGH aemignr gb G
ETE!W@IL@}LC 4 gody snl1QeTed 9_ Sy, DiieRihmbs &1,

asslsd epuisd Sbs.

iox*+12x-45=0 i, x*+3x-2=0 i ¢*~7a+3=0

iv. pP+5p+4=0 v. Y -10y+9=0 i, 2x*+x-10=0

vii. 22> ~5a+3=0  viil. 3x°-8x+4=0 ix. 2p*-7p+32=0

X. 3x*+4x-3=0

GdhFrusamen eSS HougssiosiuTheserd Db,

i X2+5x-4=0 ii. a’*+7a+3=0 ii. p’-4p+3=0

iv. X2 =3x+1=0 v x*k3x-7=0 wi. 2x +8x+5=0

vii.2a* -Ta+6=0 iii. 3@’ ~-11a+5=0 ix. 2y*+3y-7=0

X 2y% +5p=5 '

BELgFawainusaner Signohs Sieneud EneHis.

() oo Gsdassda Hand SEusdHalhr Scm HFsW.  SiHE
uptiueney  ldem’ sysb.  SFQssinmSHAT BT DIBEOBSHMES
&g ? .

(i} si1psshs5s G G BrleoL aesalsh GUmssDd 24 aaler,
Seialin senisemeT il Sraws?

(iii) Guenr geinflan afleney 2/- &0 GombsHist 120/- BhdE eunmagb
Buenthmeel aamsmlbmsd 2 0 siFsfaEn aafer Guem e
allanaveniig Erewis?

(iv) GFsususih genfean Bemd o@eoHHe 2 LHSID Scm Ganmney. S
ugriueney 42¢m’ aaflenr, o DiBeoRiGaNETS HT6NIE]

(v) Qaeeush geanlsr sboae 26om. siset Lgiustey 40cm’ aeflar,
DIFHET BT DHEURIBNETS HIT60D

(vi) Breni® Gni eiewmiEsilen alsSwnsd 6 syl Sweublen Gumesh 55
aranlledt, syeGlaeTenemich HTeutiss ]

(vil) eulL oigd aniby earflar Gupuyinlar urnisney gp? + np] S
EemNdSLILGID. [n = _2%] gmie) Bembd | =10cm LiEalsen anlbj

gemfer Gudugliueey 374cm’ siefle, SIS QLT T R STans?
S D

lgebra




| FwafalEmen’

(Viil)3, 7, 11 ... a&m &lied mﬁ@_&,g’,luﬂsi) THEHmA o LS SHe 60

S HH0EIms 210 Sy,
Sn= %{2:: +(n-1)d]

(ix) posvat  serg ol ged@mHa  120km SMIHPled o _siven
SiieadanG  afled  GFashe  aupaDUITeT Geus g dlguitd
20kmh” Gausgons oSFHsAGST0 1 afsHureb (pRFTEE
Ggsbee (piguih aelledt, SHieueTE! aupaLTET Gaumid wirg?

(X) Gurdl  sE@ow  oPeREsHOGHe  150km STy S guletien
Gouensodpenid gaiiing Goedgubd CGurgs Skmh' sfleows Gonss
Craipsa 1 walGFHuTeoln  SToGTDLIS. SieUT  (LpeuTent]]
Glgsbgud Geusmid wimgy?

Ueiaupd Sreysenet £ el Sougs sweaLnGssme ar + bx + ¢ = 0
sigith eugaled smamiss.

iy 23 .3 o= 35—4 TR o+ I3,~4J
Yo Bk Vi &g vii, 0.4,0.5 wiillobigrs2 3
ix, 1y L P-4

IX. 1 PR X.

Fwaihn  Goewih saflunsepsdeuleorer Gty "< ", il
GEUIGEeTd S LGS Sena Fwaledss Sysb.

Eg: 84 -4<3
soOBE  Greih oer smiidd Cormasensdam uleore GamLiy
L eiuiBsented mlL UL T Si8i SILEY aollgs  Fwalslse
ELEHLD.
Eg: 2x <8, x+4>5,x+1<7
Sy aalg swafedsemen £ (Hamdesed

xeisiugl 10 Egund GammbSSHTE0H

x<10

=Z aaeigl 5 SeD siFsworEn
a>5

==y @6 Ssih LG 15 Beib Gamey
2y<l15

= p G cpaim iLGGLET S mE anliganTed 23 Sleveudmt 23 Elgutd
SIF BTG
In+5223

=2 utenilell Sumdangu febevenn afiensy 32/- oyGib. LTeRflar efeey x
steaftadt, X £32




=>  @evmiendll  UM_oTenenEemed b eugliiausien  omemeu]serie
SFEHGEOUHS aanaisms 22 Sysh. suGLLIeYeTsT oTemreu]Serer
aremenllsama X sela,

xz22

g s eCmersl Bhie)aei

Qm o15] saiss swaledular Osflurs Smiud  aESSEmQW
GugonemssT SRS G@rel s swaladullal  Sias GsTaL
I ILLRND.

=> gl ol B unWwh 81 aumeNd gl HEuSTed HiEUVH!
SPULGTED Foafed WTHBULLITSEL

Eg: x+3<5 x-4>7
x+3-3<5-3 x-4+4>T7+4
xs2 x>11
{onn=3,-2,-1,0,1,2} {12,13,14,.....}

=>  gpaled ganiear Sm upept Chi sexTamed GLbGGSABTN HIELEUH!
QUEHLILGTED Floalel LOMHBLOGNLLLITH.

Eg: 2xz 8 f;—qs
5 :
_.2.._ a
o -j-x3<5x3
dazad a<i5
& {4!596!”-} x:{1‘1,13,§2,11,...}

=>  gpafed genlell E)p UDULD WD eTamTeIet GILHSEDT SebaH
UG HSHTED Fiwameld Longih.

_ x
2x5 6 > 5

—2x 6 ~3

5 <3 «_%x(—S)SSx(—S)

Al s fal8)

=>  gwaled i HeonCuen Sisysenen slemBHILIGe0 GildseuTd.
Eg: () 2x+3<11 (i) 2x-1>5
2x+3-3<11-3 2-1+1>5+1
2x <8 2x>6
2x _8 Z=h

R. Rakulas




:.:gi.ﬁ@fﬂ?ﬂ-:iji_j_):ﬁﬂ' ABHEHI 16 @ Gaev.

r=3 < B x5 -2 5
B0 10 .30 4. 5% D it 2 % 4V5
x> e x<2 el ;
32101 2 3 Q23T 4 5
wm@mmmaﬁn_m@sm
- t + + Fn s ——— +
i SoAf3h-3 1 ONW L B O 14
22y e, G fommasmesar
;S 14 1<3620-.] "D 1C 2 e3> 4 U5
aeRiBamn e o eien swefeismen apHIEHH
4329077 L
G
49.  deeumd swelicdsalear Srasanen srais?
L X+257 -9y e3<]] i x - 52 4
iv. 3x-2214 V. ¥-45 <8 vi, 2n 43« 7
q
s BT T e 2% o
3 3
X. 2.1‘+3, Y
& ki
5
50. diefeuqsid sFwsfedssfiar Lreymanen satiBam igsh @pids?
L ¥43<5 W ox-234  Wwlrsds T
iv3x-2<4 v 2x-553 vi.'—;——222
vii.'qi+3 26 vl 2(x+2)28 e . .
S 3
X. ;.x-+3<2
4
51 Uetexmih sweledsmen aaiGsm.iged Giss?
P L i.%x =< 3 e 2
. & g%=3 Ve X oD Vi -2 < x<?2
ViL-3>x>4 viii, -4 < x <3 iXx. <1>x25

X. +3<x<-2

R. Rakulan 29




seRBam iged Gisasi.Gelen Fweledsmen aapsies?

Wy 32 do0 1 3 AV 33E0 0% 3 33
RC E R R e SRR
R T T R e i S ST
LR TS I T S TR S T e e i T

ittt > = = t t % &
A0 oY OrETDTY YT

e

R. Rakula

Ly safunidEnsSamLulre  QETLTMU  §uh  GBHFTSHET  pow
STLL 80D, '

STEML @G SHTHISN B (660
2 Qoedsusgdlar Beb a omend b aeler, Sipar  spmeTeybsTen
GSHFND, SiHTeUGE Smpenay S srafier, a
=2a + 2 = 2(a+h '
S =2a b or 8§ = 2(a+b) b b
ugiisemey A stadilesr, A=ab
a

&Sy geiep SPILEH safiuh QSN IuTs andgse.

=> V=u+tateg a@er F1uUTE aund d560
ag t&ieh CLimsd U s anl1gaTel VSGF Foan@ib.

=> & sauGamBs SrenusiG @mﬁg;{,@@ UweUB SEEEnTeLor 91
SHERNUD GHSHAT AT s1(LpeuTLl YLD,

(ii) s =2(a+b) @ ag (i) v:=u’+2as B agm
e u’+2as =v’
iy e 2as =v' -
2 B m
g =V —Hu
QZE'b 2s




s ajbaped Sl kmere @sdymme

Eg:

=2

() v* = u’ +2as 43 RO
u’ +2as =v? baalod ==

u? =2 Z%as cd = (a _b)z (B Uy eibadissh)

2
u=~v*-2as c__.(a_+£1)__

d
GbBmiseied BrAulC G GupioTemd srTeRrted,

™

Eg:

Ll
3. (1)

(i)

(iif)

(iv)

(v)

(vi)

() Gosieustd geie (i) v'=u"+2as e v=40ms’,
Bemb 8cm, simerey 30cm a = 10ms”, s=35m sreflei,
aellell, DiSeOHmBEH 3 A
HITEHID, vi=u"+ 2as

s =2(a+ b) 2

u’=v:-2as
e B8 el u=Av’-2as

#=+402-2x10x%35

o = JT600-700
f=ttly
2 - 900

=15-8
=Tem

1

u=30ms"!

Ceeieusld geiflenr femb o ., omeuh b aellel, SiBeT smmetey p
Bhanan GHITHms STeNs.

wabstanl gesn Lubshsd a, b, ¢ sl SiBe Hhmeey p Bbe
Wb HSHTSMS Banizs?

GlFsisusid @emien Sanb SiBHF 2 OLHSTGLH. S@eh a aafler,
ugtiueney A @msnen @sASens STens?

Glasunidbld e Banh SBaubHand Scm igah. sisab x saler,
SiBeit Liptivera) A Gisier GaHT o&enns sremrs?

OemBaren (pdGmTant e GFbUSSD Halihe GeeiLl LIGEMSST
a,b su@ib. 1B ujliuetey A Bherar GsETSmos HreRs?

GUTE SWwEEGD MmeSTel PHOBSE DIQUILMLE Fnelulrs x/- & 1b,
Geiblsurds kg @@ v/-2 1 Ganhés GauemiGd eefar, S0kg SIS

S Brale supde SoLssb med p EieTa GHATSMBE
ENERTET




(vil} epeuGeury Bsullensul usCsigargnd Hleop k  susenh, Sime
SihssiulGeien Gulguies Blenm m auseyd SEinla 100 USESL
Gauflemev o _siien Guilguilesr Ginds Mem W Bmster @HaD
QEDDSH SIS ]

(vill} g wremeua senfls Lt dds: Gubm ysied x oysb. geenu §
uTLdiseligub QLB Grhsts yatedl y Sys. Sieuer 9 U miseafgyb
Gumm Fgneflun yerefl z Bmarer @GaHTD wirg?

(ix) o ganfig Comawner @men]ssshoalsn asmiafisms a SLGLD.
@ S SHESEH P oG,  SEmodsehamend GETsEih
UHAISHETA UISMTDH Fed b GUBHID. Gmen] SHHBL HibsTem G dns
Glasvey t @Menar G pelenDs Srewis”

(x) Gzl gafne BF oy Gpnd POLsADe x | B
Beopdsdaqug. Qabang Gpmd BOLsABe y [ 5
Eenmasdamigug.  BLARsalsd Qmrig Blembag. Osmiiguier
Glamsiarisiiey ¢ BaTan @ ST HenSHE SIS,

54. Udereuptd GHfymseis S lusGa £ s sefiubas aamuns

whms?

. v=u+at (@) vi. "z,lT“"*z” (r)
ii. v=IR (I vii. s =nr’ +nrl (0
iii. v =u’+2as (a) viii. Tn=a+(n-1)d (n)
v, s=unr+ -;—:.-:1 (a) ix. §n = ;—(a + ) {0
V. ¢=2nar (r) X. f= —z-c +32 (c)

55. daeumib GdHrmseaied s ULsEen £ _eeneg sapeumuns omhs.

i. A=nr’ (r) vii A =nR*-nr? ()
il v=mnrih Q) vii. k:%mvl »
iii, § = 4mr? (r) viil. V' =u’+2fs (u)
iv. a=bc+d (b) ix. w=/[R n
v. p=qr+2s’ (s} X R ;—;rﬂh (r)

56. Jeiexmd GSFrtisais) seLlpbGst SN GESIOS  GIIQMMLTS
LTS

i, A=+ab ik vi Pea+hize @
i, V=y2gh () SR N
s

T dmayli-n ) itk sod \/3’ o)

&




v B=a+ bvg © ix u=+r’-2as ()
V. x=—bq b’ —4ac (a) X x=ag++ bz —cd (b)

 mirafisen - Matrix

9% boaous ageld SEeLSSIULL  aamiseiar PUORG  STUWILD  atenr
SENOHSIFILD.

Eg: GObUD | syeEeh Guedizsht |
A 4 2
B 3 2
e 2 1

BGroaystram SHouesefled  Blamysefargin, Breomstiengnd  gupris,
GIEFILTW 6,

4 2
(3 2) 6160 G HTLIDTS GTHHSHENTID,
2 1

Q  prushes ey G awsHeo G CU@D 5 (2 3)

O snussioradar aifens

4 2y ——
(g :12 3=y }ﬂmg&ﬁﬁ 3 BemnussHan aufiens 3 x 2
o 1
Byeaat. (2) | suflns =@evpmeian a/enes x By comenian a/es |
=>  Beorgsmuib - Row Matrix
Y BT WIS ©_sien Srwibd B SSTUILD sTemILIHLD,
Eg: (23 4),24)
Q  Byed gmub - Column Matrix QO &gwd smuib
QB FIed WTHATD o ehen HTUID By Seiaigid, Bysisetangid
BIEOSTULID GraTlILD. eremtanfldbenen  FlaTeT STUID
1 s FHITHHTUD  sTan' 11,
4 ( 3) #2 .31 ( 2 1)
2] 2 -3 4 -3 2)2x2
-1 2 -3/3%3

iigebra




Q  sevgd smub

phEiIs cpemevall L Gdla cpastisst 1| HiouBSnH geneamLl APeUEEIBET O
b 266N SHTUSREET SIS HSHTUSMIST eTaTLbHILD.
S0 S STWmEeT stGLTEID T Eemsh G OuEib.

(10 100
=101 i={o 10
001

=>  FI0 SIS

Bren® srunseler 965 paosmsSa  wWiah Fwemmuledl  SHeme g
SMULIBIGST sTeHIRLD.

Eg: 23 23 eTenBen, A=B
A=14 5 B=}4 5 . ) ;
12 - swsnwum &afleat  auflangsenid
FLDGHIT(ESHLD.
o :

57. (1) Bhost. swoed. eficed syl apeiin LTENeUTSET Sellssdley Gubm
LygTtewl & 61T 62, 73, 45 susid. oeujsest  aleherTalgdled  Gubm
Yefrefilset 58, 75, 54 susib. :

(a) epsim wremeu)senh Seanllasalst Gumn yshelisanen gup s
Fmugdled & {Ga?

(b} spujsst silshepieandsed Qunm yehefsamen g Hired STuHssh
&L (B,

(¢) owiss Grand utmssiaud Gumm ustellsamen g (3x2)
HMUGS0 s His.

(d) st Erao® utLmsaignt Qubp usiefsansn guy (2x3)
HTHH EmHis.

(1) eflememuniGuy  Busliy @amis A, B, C sdw  cpaim
LITL FTeDFUSEMaFHAl  SUbHIOSTERIL.  IDTemIsUTEeT  (panmEL 3
QieuiTee 2 GLeWTHsT, 5 giemimat 6 QueniEe, 4 suemise 3 Qusissn
SAGID.

(@) uvrisnesy A ufelmphal  mebgl  Getewin  oyemr.  Gluewm
LOTERTSUTESEMNAT G(h HenTs Snudhdled sy Peaen) Guuihs.

(b) ewem  unLETaneuEsTe B EID : &euhs)  GETewL  mpemt
LomeRTeU Samar @b BFed BmuGPled sy Qeaml GuwiflBs.

(c) ‘snwkimer P.Q seiusuiinilen suflmaser wirg?

(d) Cupsmpliul syeysenst @y (3%2) sawsHe smilg R aan
GuwifiGes?

349

JtAlgebra




8 ; 23 |
(i} A=(2,4) B={3 C=K4s D=]o¢
2 0

GuwBso o _efren FmumEeiledmbHa

a) mgsd sTwb ag?

b) sassTub gam sme?
¢ SGHSTLCITRI oGS
d) &b snuBSH semeu?

€) snub A @Gear auflers wirgy?
) swb D@ear afers wing?

() (2 4) g o
32 i 2 0

d 4 2

S=(3 e) s e Y

Guogysitst  STUKIS e Fauhdled Gamrefam.

a) srb R S auflans wirgs?

b} s T eeeusawnans?

¢) g0 aflsueLw SRS e

d) Q¢ swedsnuGalsa a, b, c i aramas?
€) (2x2) mnwGiomaimy slpsHIBT

f) P=Sasfan d,emsd srams?

v) Gam  gamiao G BI6T  Luemid  QEuis  euTHeammims udnil
SYPTWOLLL G (9560 walSBHumenbalst 8 EfEe, 12 Uemest, 25
ADTULT  ensdBleNsEnd 2eug) wslGAuTaSBed 4 sTjseh 15
uerbaselt, 12 Gum'Lny oesdeisen tpaipmb  welSHwimeogsdsd 10
SAYSEHD 4 Uerdsiemtd 20 Guom iy MESLBGBEHD oD CFUIHE!.

a) epam wafiGAurenisalan:  uwemmh Qs sriseiar
SieRTER G BN (h BIed SHTLIOTS eiapd Ceararts GuwufiGa?

b) BFssasisamen 9O 635 STUTS aupdl Aslan’t QuUIIfGa?

¢) Aufar euflens wirg?

d) ®% snussHar Beojsmer BirsbsenTsaub BIrsh&EemaT
By saTEeyld B STuors sipAlemred a1 WommTS?




(vi) eush, Wb Sew  Guesul  FArisen, Caeleuml, USe sl
apsiim B SeT SMEHH GleuemFbgesdaud  DempLdaseriie
slemienildbsnd e SMLUDTE &TLL DL 6T

(2 ; Z) a) smusdear euflens wrg?
: b) susb i &lipenn GINE: 2T @msrﬂéf(&lséﬁ@:,ﬂb
SIS 615 EHeman !

c) eush ap@ip HTEHE Cu GeuelFGaaiad SEDIPlLbEmsT b
HirsbdHaTugsed ST HE?

d) Bmaumpd Guilw Geualdblasant owmplydbsemer gup (3 * 2)
STUDTS ST ([HiS7

(vil) dlgmor geidlet Gsfley Gaiwiuce A, B, C gdu ghHubuiisaiicd
o _gien gyew,  Guew  UsTtenenmefllar  smeusd b SMUSSTD
BT L LI (BieTTelighl,

2
(g ; a) srwsder euflens wing?
12 b) Bullst e_aen Gued Tsiienencssit e1dgenan GLi?

¢) apshigy GEOUNBaTleud 2 _ser syewr Usenenssnen b  HiTel
STWILTS ST FS?

(viiiya) o2 - p={® 4 A=Berafletr,
- b ¥ a, b asiuanaps samis?
2 3 a -l
i Q=3 b
2 4 c 4,

P=0Q aiaflatt, a,b, ¢ ersbiusumenpd Hirewras?

&) 51, e ¢ ek e fekfgu
X(oa,-z) *(bc«z

X =Y awaflan, a,b, Caanieunenmd arems?

(ix) o+ y 5 =( 7 5
i ( 3y e = x+ty -2 A=B aafar,

et

a) Awen sufleng wirgy?

b) xyea@uabried ETeEih FALTHHMET 2 _(HeUThES.,

¢) x,yesuabennd H1e8is7




1

x) 3 drh B 3 1 2Zpq
X = : G . 7
pq -1 -3 1 2a+b -3 X =Y ciafain,

a) - a, b aeiuappied swaUTR G SimLSS a, b s srewis?

b) p. qeEuamens srews?

. FrgmiEmar. i, mbEmd

aufleng el FloenTan Gy e STUBISMETS Fal 601D SsLevd SIHEe0T,
5185 auflensiyen w smubiorermy eflenLiiTasd Slenl.diib.

Eg: 1 ~L 3
A=14 1 B=|4 0
1o L2
2+(-1)  3+3
A+B = | 4+4 1+0
1+1 0+2
1 6
=it B ]
Iy 2
2-(-1) 33
A-B= | 4-4 1-0
1-1 0-2
3 0
=10 I
0 -2

FrwChraran (Pap eravtanrmet Guls K@ asb

STEWTSID DH (PUp eTememied LLBEHGSL BUTE eTedeauT APEOBEISETHLD
Sisublsusmiemad GLhdSLILGY 985 aufleseiul SMUE - ellem_uwimss
Glumimis,

: 947
fe: A=(4 ¥ 0)




59,

) (2 -2) v (-3 2) Gi) (2 3 4) . (-3 5 2)
3 4 01 410 0-2 1

iy { 4 g @ (43 2)+ (239
2 |+ 3
3 0
(v) 2 S 2 W1\ (wi) 2 3 302
2 3 a] £l 2 4 1yl+f3 2
35 <4 4.3 G2 4 30 I o
(vii) 34 2 -3 {viii) S -3 -2
= il & TR 3 21~ k0 4
0 1 S 03

LA
¥

O (-3 2 -3 :
¢ 4 3 4})- 13 2 0 ; 43 2y % (3
(ix) (s 3% l\ /) - (x) ( ) (

ko, - (4 s
3 C ( 3 3
2 .

sinfedr, Llsleu(hl SIWIBISMmeT SHTess?

1
L]

&
[ IV 35
— ok
"

lov]

1
——
L S R VS

() A+B (i) B+C (i) A+C
(iv) A-B (v) B-C (vi) A+B+C
(Vi)A+C-B (viii) A+B - C (ix) A-B+C

x) A-(B+C)

i o Y 9) L 0
@ A_(-4 _x) B_(:'. -y) £ (-1 1)

A+ B =C gefie, x, y a@ucufenns snewis?




_[x p _1¥=p _§-i 3
(iiy X (x p) b (~y q) X+Y (»7 ”)

aieiedl, X,¥, P edusmennd srewts?

42 & 3 ~f3 2 U ;
A_(Q 0 ]) B- (] 5 _3) cteofladr,

(i) 2A (i) 3B (iii) 2B
(iv) -A (vv A+2B (vi) 2A+3B
(vii) 2A - B (viiiy 2A-3B (ix) 2(A+B)

(x) 3(2A-B)

SIILIGMENDS ST 5.

R. RAKULAN

Dip in teaching (Maths)

D 100/1, Kaludamada,
Hapugastalawa.

071-8152784 | 060-2541827 |

rakunice@yahoo.com

‘Algebra




R ——

£ 1Yo v <ok’ L 1 IRt
G (Y (D)ra
' ®rnd iﬁamf‘ij;um&m I A Jifan
D SaciE L S 3 T
ik (s:- g !)“E ! (i‘ 0 .§~) Ty

e (ili) e fid) AL (i}
HE +AS (iv) HS4 A «v) A= (vi)

@+A)E (=) gE - AL . (i) 8- AL (itv)
. {(F-20€ (0

JBimng Biedio e

HAJUNAA 8

* afinhh) geiions s gad

sbemsbuleX N00I A
- .awsistergugei

B T281RaS-000 | DETSRIE-ITO

mos.cordeyBasiouist







‘Rene De es [l John Napier _ Blaise Pascal
-France- @ - Scotland - ' - France -
(1596-1650) * @&  (1550-1617) | (1623-1662)

Phythagars 1  Johanes Kepler : " John Venn
i - Greece - : - Germany - : - British -
(B.C 569-B.C 475) | ] (1571-1630) o (1834-1923)

Culy Print Nossalopdige 0777 320 446




	1 (1)
	1 (2)
	1 (3)
	1 (4)
	1 (5)
	1 (6)
	1 (7)
	1 (8)
	1 (9)
	1 (10)
	1 (11)
	1 (12)
	1 (13)
	1 (14)
	1 (15)
	1 (16)
	1 (17)
	1 (18)
	1 (19)
	1 (20)
	1 (21)
	1 (22)
	1 (23)
	1 (24)
	1 (25)
	1 (26)
	1 (27)
	1 (28)
	1 (29)
	1 (30)
	1 (31)
	1 (32)
	1 (33)
	1 (34)
	1 (35)
	1 (36)
	1 (37)
	1 (38)
	1 (39)
	1 (40)
	1 (41)
	1 (42)
	1 (43)
	1 (44)

